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&5 X 4 B | TmALODERE ADKES X 4 TRMLDKE [ FE ADKES X 4 B2 | LinhoDts ADKES R 4 Himronhs | B ADKES
(m) (m) (kN/ ) BB (m) (m) (kN/m) (m) (m) (kN/ ) (m) (m) (kN/m)
; 100kN/m##8z5| 100|000 ~ 396| 164.62 |3mEBz3| 000 ~ 234|411 22.00 | 100kN/m%#8z25 | 1.00 | 1056 ~ 13978 164.62 |3m&EBZB| 2500 ~ 13978 4.11 22.00
zh st 1.00 396 ~ 1174 100.00 | ThLls | 234 ~ 11.74] 3.00 16.05 Zhlst 100|500 ~ 1056 100.00| Thst | 500 ~ 2500| 3.00 16.05
2 100kN/m#%#25 | 1.00 | 000 ~ 398 165.03 |3mZi#BZ 5| 000 ~ 236|413 22.09 | 100kN/mi%#z25 | 1.00 | 1057 ~ 12210 165.03 |3mEBZB| 2500 ~ 14210 413 22.09
zh st 100|398 ~ 17| 100.00 | ThLls | 236 ~ 11.76] 3.00 16.05 ZhLlst 100|500 ~ 1057 100.00| Thst | 500 ~ 2500| 3.00 16.05
3 100kN/m##25 | 1.00 | 000 ~ 394 164.25 |3mZi#BZ 5| 000 ~ 232|410 21.93 | 100kN/mi%#825% | 1.00 | 1055 ~ 13226 164.25 |3mEBZB| 25,00 ~ 13226 4.10 21.93
zh st 100|394 ~ 11.72| 100.00 | Thbls | 232 ~ 11.72]| 3.00 16.05 Zhilst 100|500 ~ 1055 100.00| Thst | 500 ~ 2500| 3.00 16.05
P 100kN/m##25 | 1.00 | 000 ~ 394 164.38 |3mZi#BZ 5| 000 ~ 233|410 21.96 | 100kN/mi%#825 | 1.00 | 1055 ~ 13244 164.38 |3mEBZB| 2500 ~ 13244 410 21.96
zh st 1.00 394 ~ 1173 100.00 | ThLls | 233 ~ 11.73] 3.00 16.05 Zhlst 100|500 ~ 1055 100.00| Thst | 500 ~ 2500| 3.00 16.05
5 100kN/m##825 | 1.00 | 000 ~ 391 163.81 |3mEBZB| 000 ~ 230 4.08 21.85 | 100kN/mi%#825% | 1.00 | 1054 ~ 11981 163.81 |3mEBZB| 25,00 ~ 11981| 4.08 21.85
zh st 100|391 ~ 10| 100.00 | Thls [ 230 ~ 110] 3.00 16.05 Zhlst 100|500 ~ 1054 100.00| Thst | 500 ~ 2500| 3.00 16.05
6 100kN/m##8z5% | 100|000 ~ 373| 160.50 |3mE#Bz25| 000 ~ 218|399 21.36 | 100kN/mi%#825% | 1.00 | 1054 ~ 11024 160.50 |3mEBZB| 25,00 ~ 11024] 3.99 21.36
zh st 100|373 ~ 1s1| 100.00 | ThLls | 218 ~ 1151] 3.00 16.05 ZhLlst 100|500 ~ 1054 100.00| Thst | 500 ~ 2500| 3.00 16.05
. 100kN/m#%#25 | 1.00 | 000 ~ 379 161.64 |3mEBZB| 000 ~ 222|402 21.52 | 100kN/mi%#825% | 1.00 | 1053 ~ 1078 | 161.64 |3mEBZB| 2500 ~ 10780 4.02 21.52
zh st 100|379 ~ 1158 100.00 | ThLls | 222 ~ 1158] 3.00 16.05 Zhls 100|500 ~ 1053 100.00| Thst | 500 ~ 2500| 3.00 16.05
g 100kN/m##82z5%| 100|000 ~ 385| 16263 |3mE#Bz5| 000 ~ 226|405 21.66 | 100kN/mi%#82z25% | 1.00 | 1053 ~ 10600| 162.63 |3mEBZB| 25,00 ~ 10600| 4.05 21.66
zh st 100|385 ~ 1163| 100.00 | ThLls | 226 ~ 1163] 3.00 16.05 ZhLls 100|500 ~ 1053 100.00| Thst | 500 ~ 2500| 3.00 16.05
9 100kN/m#%#25 | 1.00 | 000 ~ 388 163.27 |3m%i#BZ 5| 000 ~ 228 | 4.07 21.76 | 100kN/m%#8z25% | 1.00 | 1053 ~ 10200 163.27 |3m&E#BZ3| 2500 ~ 10200| 4.07 21.76
ThLst 100|388 ~ 1167 100.00| ThUs | 228 ~ 11.67] 3.00 16.05 Tnst 1.00 | 5.00 ~ 1053 100.00 | =hLst | 5,00 ~ 25.00| 3.00 16.05
10 100kN/m##82z25% | 100|000 ~ 386| 16283 |3mE#Bz5| 000 ~ 226|405 21.69 | 100kN/m#%#z5% | 1.00 | 1053 ~ 9985 162.83 |3mEBZB| 2500 ~ 9985| 4.05 21.69
ThnLst 1.00| 386 ~ 1164 100.00 | =hLS | 226 ~ 1164 3.00 16.05 Thnst 1.00 | 5.00 ~ 1053 100.00 | =hLds | 5,00 ~ 25.00| 3.00 16.05
100kN/ Mm% #8225 ~ ImEBZD ~ 100kN/m## 2z % ~ IMEBZD ~
zh st ~ ZhLs ~ zh st ~ Zhs ~
100kN/ Mm% #8225 ~ ImEBZD ~ 100kN/m##z% ~ IMEBZD ~
zh st ~ ZhLs ~ zh st ~ ZhLs ~
100kN/ Mm% 82 3 ~ ImEBZD ~ 100kN/m##z% ~ IMEBZD ~
zh st ~ s ~ zh st ~ Zhs ~
100kN/ Mm% 825 ~ ImEBZD ~ 100kN/m## 2z % ~ IMEBZD ~
zh st ~ ZhLs ~ zh st ~ ZhLs ~
100kN/ Mm% 823 ~ ImEBZD ~ 100kN/m##z% ~ IMEBZD ~
ZThst ~ Zzhst ~ ZThst ~ Zhst ~
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